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Fab(xr )=tangens hyperbolicus (tanh)
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Fab(xr )=tangens hyperbolicus (tanh) & modified

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a
a=1,00, b=1,00 e=2,718282

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a

F’ab(xr ) = b
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L u L u=28cd/m2range office
luminance

Fab(xr )=tangens hyperbolicus (tanh) & modified

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a
a=1,00, b=1,00 e=2,718282

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a

F’ab(xr ) = b
a2 + x2
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L u L u=28cd/m2range office
luminance

Fab(xr )=tangens hyperbolicus (tanh) & modified

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a
a=1,00, b=1,00 e=2,718282

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a

F’ab(xr ) = b
a2 + x2

a=0,501,0; b=1,00
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L u L u=28cd/m2range office
luminance

Fab(xr )=tangens hyperbolicus (tanh) & modified

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a
a=1,00, b=1,00 e=2,718282

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a

F’ab(xr ) = b
a2 + x2

a=2,001,0; b=2,00
W

N
m

1,01
=0,98

a=2,00
1,0

=2,000

b=2,00

m
1,02

=0,99

DEH40−6A

−4 −3 −2 −1   0   1   2   3   4
−3

−2

−1

  0

  1

  2

  3
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L u L u=28cd/m2range office
luminance

Fab(xr )=tangens hyperbolicus (tanh) & modified

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a
a=1,00, b=1,00 e=2,718282

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a

F’ab(xr ) = b
a2 + x2
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Fab(xr )=tangens hyperbolicus (tanh) & modified

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a
a=1,00, b=1,00 e=2,718282

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a

F’ab(xr ) = b
a2 + x2

a=1,001,0; b=1,00
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Fab(xr )=tangens hyperbolicus (tanh) & modified

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a
a=1,00, b=1,00 e=2,718282

Fab(xr ) = b e
xr /a − exr /a

exr /a + exr /a

F’ab(xr ) = b
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